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Question Number : 1 Question Id : 7532292633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1.Vaccinee
2. Vacuolar
3. Vacation
4. Vacuity
5. Vacated

Options :

1. ® 51342
2. % 53124
3. % 51324



4. % 53142

Question Number : 1 Question Id : 7532292633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Al Xrsal &I WsadI | 3 aTd HH & STHR ford |

1.Vaccinee
2. Vacuolar
3. Vacation
4. Vacuity
5. Vacated

Options :

1. % 51342
2. % 53124
3. % 51324
4.9 53142

Question Number : 2 Question Id : 7532292634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

ATG, FQL, ?, PKV, UHA
Options :

1. ¥ KNR

2. % LNQ

3. ¥ KMQ

4, ¥ KNQ

Question Number : 2 Question Id : 7532292634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TH 3IhH a1 a1 8, fo s ¥ U Ug @ ¢ | AU 77T fawed! & 3 98 el fddwed 9T, STt Sigshd &1 I |

ATG, FQL, ?, PKV, UHA
Options :

1. % KNR

2. % LNQ

3. % KMQ

4. ¥ KNQ

Question Number : 3 Question Id : 7532292635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. * Prime

2. * Even

3. % 0dd

4. ¥ Vowel

Question Number : 3 Question Id : 7532292635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefead us o fau T faswedi § 9 favw rsg o1 g
Options :

1. % 3HIY

2. % HH

3. % fayw

4, ¢ IR

Question Number : 4 Question Id : 7532292636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, select the related words from the given alternatives.

Fan : Blade :: Cycle : ?
Options :

1. % Nib

2. # Steering

3. % Cockpit

4. ¥ Pedal

Question Number : 4 Question Id : 7532292636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % (9
2. % RN
3. % PlbiUc
4. U

Question Number : 5 Question Id : 7532292637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

TQL : QMG :: ?
Options :
1. # FMG : CIA

2. % DNV : ALQ
3. % SHU : VDP
4.+ JKW : GGR



Question Number : 5 Question Id : 7532292637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiad we o fou e fawedt & ¥ Ifia sfer g™ &1 9wl

TQL : QMG :: ?
Options :
1. ¥ FMG: CIA

2. % DNV : ALQ
3. % SHU : VDP
4. ¥ JKW : GGR

Question Number : 6 Question Id : 7532292638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘TO + ME’ is written as ‘53, ‘COD + IN’ is written as ‘45’. What is the code for ‘INTO + OF’ in that code
language?

Options :

1. % 72

2. % 78

3.479

4. % 80

Question Number : 6 Question Id : 7532292638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fIfR BIS YW H, “TO + ME’ &I *53° foRaT AT B, “COD + IN’ BT “45° ToRan ST § | $9 HIS YN H “INTO + OF H1 HIS F1 57
Options :

1. % 72

2. % 78

3.¥79

4. % 80



Question Number : 7 Question Id : 7532292639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five candidates C1, C2, C3, C4 and C5 were appointed to a company on five different days of the same week from Monday to Friday (not
necessarily in the same order). C5 was appointed before C3. C3 was appointed before C2. C5 was appointed before C1. C4 was appointed on
Thursday.

Who was appointed on Monday?
Options :

1. % Cl

2. % C2

3. % C3

4. % C5

Question Number : 7 Question Id : 7532292639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Cl

2. % C2

3. % C3

4.9 C5

Question Number : 8 Question Id : 7532292640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of six members is to be selected from five men M1, M2, M3, M4 and M5 and five women W1, W2, W3, W4 and W5. M2 has to be
selected with W4. W1 has to be selected with M3. W3 has to be selected with W2. M1 cannot be selected with M5 or W5. W4 cannot be selected



with M4 or M3.

Which of the following members can be selected?
Options :

1. ¢ M2, M5, W2, W3, W4, W5

2. % M2, M3, W1, W2, W3, W4

3. % M1, M2, M3, W1, W4, W5

4. % M1, M2, M3, M4, W1, W4

Question Number : 8 Question Id : 7532292640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % M2, M5, W2, W3, W4, W5

2. % M2, M3, W1, W2, W3, W4

3. % M1, M2, M3, W1, W4, W5

4. % M1, M2, M3, M4, W1, W4

Question Number : 9 Question Id : 7532292641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight persons A, B, C, D, E, F, G and H have different ages. The age of E is not the least. The age of C is less than the age of D, but more than
the age of A. The age of G is more than the age of D. The age of only two persons is less than the age of B. The age of only three persons is more
than the age of F. The age of H is more than the age of C, but less than the age of D. The age of E is less than the age of B.

Which of the following statement is correct?

I. The age of A is less than the age of B.
II. The age of only four persons is more than the age of C.



Options :

1. * Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 9 Question Id : 7532292641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had I

2. % Had I

3. ¢ 1 qUTIL A

4. % A IAIE I

Question Number : 10 Question Id : 7532292642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some P are T.
II. NoTis Z.



Conclusions:
I.NoPisZ.
II. Some Z are not P.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. * Both conclusion I and II follows

4. # Neither conclusion follows

Question Number : 10 Question Id : 7532292642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had [T5HY [ 3ITRV Hal &

2. % Had (BN 11 SR Hl §

3. % GHI FSHY 1 TT 11 SR H-d &
4. ¢ B 1t FIspy SR T BraT g

Question Number : 11 Question Id : 7532292643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements

to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.



Statements:

I. Some X are Z.
II. Some Z are W.
III. No Z is V.

Conclusions:

I. Some X are W.

II. Some W are not V.
III. Some X are not V.

Options :

1. #® Only conclusion I follows

2. % Both conclusion II and III follows
3. # Both conclusion I and II follows

4. % All conclusion follows

Question Number : 11 Question Id : 7532292643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had [T5HY [ 3ITRV Hal &

2. ¢ I FSHY 11 QT 111 3FIERUT 63l §
3. % GHFI FSHY 1 T 11 SR H-d &




4. % Ut Py SRV HRd &

Question Number : 12 Question Id : 7532292644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If ‘A’ means ‘+’, ‘B’ means ‘—’, ‘C’ means ‘X’ and ‘D’ means ‘+’, then which of the following equation is correct?

.36 DO9C16 A5SB2=67
II.3C24D6B 12 A 50=50

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 12 Question Id : 7532292644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ale A BT 3+, B B3, ¢ BT 3 x> qUT D BT 31 <+ g, T i & 9 bl |1 gefieper Jet 82

.L36D9C16 A5B2=67
II.3C24D6B 12 A 50=50

Options :

1. % Had 1
2. % HAdII
3. ¢ 1 UGl
4. % qEIIATR I

Question Number : 13 Question Id : 7532292645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.



600, 591, 573, 537, 465, ?
Options :
1. % 288
2.9 321
3. % 345
4, % 362

Question Number : 13 Question Id : 7532292645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad we & <1 7S e & 9 g 8f 1d S|

600, 591, 573, 537, 465, ?
Options :
1. % 288
2. % 321
3. % 345
4. % 362

Question Number : 14 Question Id : 7532292646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many roads are both radio and picture?

14

N

5
/2 m \\ Picture

2]

Radio

Road

Options :



1.¥5
2. %19
3. % 24
4. % 17

Question Number : 14 Question Id : 7532292646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥5
2. %19
3. % 24
4, % 17

Question Number : 15 Question Id : 7532292647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is correct?

I. The number of pens which are both bats and balls is 17.
II. The number of bats which are neither balls nor pens is 77.



2 )
28 \1\_?’// 49 —Bat
33

32
\/L Ball
Options :

1. % Only1

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 15 Question Id : 7532292647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % BHad |



2. % Had Il
3.« 1 QYT I gl
4. % BB I

Question Number : 16 Question Id : 7532292648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Point B is 18 km east of point A. Point C is 5 km north of point B. Point C is 24 km east of point D. Point D is 7 km south of point E. If a man is
standing at point C, then how far is he from point E?

Options :

1. % 25 km
2. % 24 km
3. % 7km
4, % 32 km

Question Number : 16 Question Id : 7532292648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.+ 25 fb H.

Question Number : 17 Question Id : 7532292649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dinesh starts walking from his home and walks 28 metre straight. He turns to the right and walks 18 metre. He turns to the left and walks 10
metre. He turns to the right at an angle of 90 degree and walks 15 metre. He turns to the right and walks 21 metre. He turns to the left at an angle



of 90 degree and walks 5 metre. He turns to the right at an angle of 90 degree and walks 50 metre. If now he is facing, the south direction, then in
which direction would he start walking from his home?

Options :
1. #* South
2. % West
3. % East
4. ¥ North

Question Number : 17 Question Id : 7532292649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fERT 30 TR T 3RH Rl § 94T 28 Fiex 4T Iadr & | 98 T 3R ST § adT 18 Hiex Iadl ¢ | 98 a1l SR TSl g auT 10 Hiex
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Options :

1. % gfgm

2. % Ufgy

3. % gd

4. 3R

Question Number : 18 Question Id : 7532292650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figure on the right of (::) from the given
alternatives based on the same logic/rule/relation.

THES - Bl @

Options :




Ne
2. % m
3. % U
O

Question Number : 18 Question Id : 7532292650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(::) & St 3R &t et & sngpfaat fordt adh/fomaddy I Tefia g1 38 M fasmedi § 9 () & ol 3R IHH adb/fFam/Asy wR sruia
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Options :

O\




D

%
N

Question Number : 19 Question Id : 7532292651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Options :




<

Question Number : 19 Question Id : 7532292651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I IR MBI UY MBI & UfeRed DI T B2

Options :




Question Number : 20 Question Id : 7532292652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.




Question Number : 20 Question Id : 7532292652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

General Awareness
Group Number : 2



Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 21 Question Id : 7532292653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gingee fort is situated in which state/UT of India?

Options :

1. ¥ Puducherry
2. % Ladakh

3. * Gujarat

4. % Karnataka

753229145
0

0

No

No

0

20

No

General Awareness

753229145
1

Online
Mandatory
20

20

20

Yes

1
753229174
Yes



Question Number : 21 Question Id : 7532292653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fofsit faer HRd & forg Trsg o fRud 82
Options :

1. ¢ ggat

2. % deld

3. % TSRId

4. % PACH

Question Number : 22 Question Id : 7532292654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of Festival — State is NOT correct?

I. Onam — Kerala
II. Hornbill — Tamil Nadu

Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 22 Question Id : 7532292654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AER - 57 &1 Fafifad 3§ @ 19 91 37 981 T8l 22
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Options :

1. % Had |



2. ¥ Had Il
3. % 1 qYT I aHl
4. % qIEITAIB I

Question Number : 23 Question Id : 7532292655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the average daily balance that a bank is required to maintain with the Reserve Bank as a share of such per cent of its Net demand and
time liabilities (NDTL) that the Reserve Bank may notify from time to time in the Gazette of India called?

Options :

1. # Repo Rate

2. % Reverse Repo Rate
3. % Bank Rate

4. ¥ Cash Reserve Ratio

Question Number : 23 Question Id : 7532292655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® YW

2. % gy e

3. % §H R

4.« Fhd] IRFE SrIUTd

Question Number : 24 Question Id : 7532292656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding medium industry in India?



I. Investment in Plant and Machinery or Equipment is not more than Rs.10 crore.
II. Annual turnover is not more than Rs. 250 crore.

Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 24 Question Id : 7532292656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. ¢ HAd Il

3. % [ QYT ISl
4. % qIAIATA

Question Number : 25 Question Id : 7532292657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Valency of magnesium is

Options :

1. % 1

2.9

3.%3

4, % 4

Question Number : 25 Question Id : 7532292657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HefRrgw Bt gaod g 3|
Options :

1. # 1

2.9 2

3.% 3

4. % 4

Question Number : 26 Question Id : 7532292658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which pair of Non-Metal — Atomicity is correct?

I. Nitrogen — Diatomic
II. Phosphorus — Tetra -atomic

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 26 Question Id : 7532292658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STYTJ — URHTU[h T DT S T qgiH ﬂﬁ %‘?
L. IS — fguRATe

II. IR RY — dJUIHIU[D

Options :

1. 8 Had 1
2. % BHad I
3. 1Y 11 Sl




4. % qIEIAIBI I

Question Number : 27 Question Id : 7532292659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Evaporation of water may take place in absence of sunlight.
I1. Water vapour gets added to air by evaporation and transpiration.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 27 Question Id : 7532292659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & @ & 91 YT 9g 22

1. I & UHIR BT Uil § Uit &1 arsdiahrur g1 Il 5|
I1. 9T & AT YT AT T & Sierarsy firereh Y& gl
Options :

1. % Had ]

2. % HAd I

3. ¢ 1YL ST

4, % G IAIBI

Question Number : 28 Question Id : 7532292660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following state of India is the largest producer of bauxite?
Options :



1. # Karnataka

2. % Qdisha

3. % Madhya Pradesh
4. % West Bengal

Question Number : 28 Question Id : 7532292660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRd 1 FRgferRad # T S I1 I diad1ge BT Jad F81 SUGH 82
Options :

1. % PlcH

2. ¢ ISl

3. % AH YR

4. % UiZH S

Question Number : 29 Question Id : 7532292661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which method of soil conservation the bare ground between plants is covered with a layer of organic matter like straw?
Options :

1. % Contour barriers

2. % Mulching

3. # Terrace farming

4. # Shelter belts

Question Number : 29 Question Id : 7532292661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a1 TR ) 14 ) ey & dieft & e sFmaRa Y S uerd S yare d e < St 22
Options :

1. % AR faRY (Contour barriers)



2. ¥ W(Mulching)
3. % aﬁ?ﬂw (Terrace farming)
4. % gIARIYD (Shelter belts)

Question Number : 30 Question Id : 7532292662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. The Western Ghats are higher than the Eastern Ghats.
II. The height of the Western Ghats progressively increases from north to south.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 30 Question Id : 7532292662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 Hy= 981 82

1. gf3eft gTe g u1e 3t 3fhe 3 g

11. Ut g1e 3t Sars, IR A Sfu B 3R Il Sl g
Options :

1. % Had 1

2. % HAdII

3. ¢ 1 UGl

4. % qEIIATR I

Question Number : 31 Question Id : 7532292663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the son of Chandragupta Maurya?
Options :

1. # Ashoka

2. ¥ Bindusara

3. ¥ Bimbisara

4. % Ajatashatru

Question Number : 31 Question Id : 7532292663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frofafed 3 3 957 0 ST gA D U1
Options :

1. % 3

2. ¢ foguR

3. % fofedrR

4. % 3SIdRF

Question Number : 32 Question Id : 7532292664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Gulamgiri’ was written by

Options :

1. ¥ Jyotirao phule

2. # Shri Narayana Guru

3. # Ishwarchandra Vidyasagar

4. ® Pandita Ramabai

Question Number : 32 Question Id : 7532292664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AAEARY foare & gRTfordt TS ot



Options :

1. ¢ SR Gl

2. % 4 AIRAU S

3. % Sy faemR
4. % TfsdrHETS

Question Number : 33 Question Id : 7532292665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aihole was the capital of

Options :

1. % Chola

2. ¥ Chalukyas

3. # Pallavas

4. % Chandela

Question Number : 33 Question Id : 7532292665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U5 EIRIELIETRIN
Options :

1. % 9id

2. ¥ AR

3. % Uid

4. % Tdd

Question Number : 34 Question Id : 7532292666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In June 2021, who has launched “Early Cyclone Detection Technique™?
Options :



1. # IIT Kanpur

2. ¥ IIT Kharagpur
3. # IIT Delhi

4. % 1IT Mumbai

Question Number : 34 Question Id : 7532292666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 2021 H, frae 31l Qe feearM da-ie” YR T 87
Options :

1. # 3fT3.37M3.¢1. R

2. ¥ 38301521 TSP

3. % 3715 315 <1, faerl

4, % 33318 1. 4as

Question Number : 35 Question Id : 7532292667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been awarded ‘Nelson Mandela World Humanitarian Award 2021°?
Options :

1. % Amina Hydari

2. % Paramjit Khurana

3. ¥ Rumana Sinha Sehgal

4. ¥ Ravi Gaikwad

Question Number : 35 Question Id : 7532292667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R HS T 3y AFadmare REBR 2021 3 fohd gwifd forar mar g2

Options :

1. % AT g™




2. % TR G
3. « SHMT R8T 987Td
4. % I MADHATS

Question Number : 36 Question Id : 7532292668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In June 2021, which of the following has launched ‘CREST”, to provide academic and taught leadership in innovation, entrepreneurship and risk
capital?

Options :

1. # IIT Delhi

2. % IIT Mumbai

3. % IIT Madras

4. % TIT Kanpur

Question Number : 36 Question Id : 7532292668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o 2021 H, Fafafed & 9 foem TamR, Seftar iR Sifed doit § sirafie SR Ramm Aqd UeH &R+ & foT ‘CREST” Al fahdT g2
Options :

1. % 3f1%.3Mm8. &, faeeit

2. % 3718 .38 1. 4as

3. 3133118 &) e

4. % 33 37M5.81. AR

Question Number : 37 Question Id : 7532292669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are fundamental duties in constitution of India.
Options :

1.% 6

2. %5



3.¢¥ 11
4. % 10

Question Number : 37 Question Id : 7532292669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR & Ay o Hif® Fa 5|
Options :

1. % 6

2.% 5

3. 11

4. % 10

Question Number : 38 Question Id : 7532292670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From which country’s constitution the provision of fundamental rights has been borrowed?
Options :

1. ¥ United states of America

2. # Canada

3. # Ireland

4. # Australia

Question Number : 38 Question Id : 7532292670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ao SHYBRI BT UTau ford <=1 3 |ide™ 4 forar mar g2
Options :

1. ¢ TG 1Y ARG

2. % TSl

3. % 3RS



4. % 3freferar

~

Question Number : 39 Question Id : 7532292671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country will host the 2023 Men’s Hockey World Cup?
Options :

1. ¥ India

2. % Japan

3. % Australia

4. # Canada

Question Number : 39 Question Id : 7532292671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2023 TN B! Ay HU B BSGH! DIF AT G- HIM?
Options :

1. ¢ HRd

2. % NI

3. ® 3fiReferarn

4. % PpAlS]

Question Number : 40 Question Id : 7532292672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following country has won the first ICC World Test Championship title?
Options :

1. # India

2. % England

3. % New Zealand

4. % Australia



Question Number : 40 Question Id : 7532292672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 @ foow 32 = ugeh o d1 4. fay S Afg=fRiy &1 fadre sitar g2

Options :

1. * HRd

2. % oS

3. ¢ gollavs
4. % 3frecfern

~
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Question Number : 41 Question Id : 7532292673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 2° =.f1024 . then what is the value of n?

Options :
1. % 4
2.¥5
3.% 6
4. %17

Question Number : 41 Question Id : 7532292673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 27 = /1024 B, dl 1/N &I G H1 87
Options :

1. % 4

2.¥5

3. % 6

4. % 7

Question Number : 42 Question Id : 7532292674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For what value of A, 367A is divisible by 8?
Options :

1. * 4



2.2
3.% 6
4. % 8

Question Number : 42 Question Id : 7532292674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AP BT & [T 3674, 8 T AU 82
Options :

1. % 4

2.¥2

3.% 6

4, % 8

Question Number : 43 Question Id : 7532292675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the Highest Common Factor of 30, 120 and 160?
Options :

l.#5

2.%10

3. % 15

4. % 20

Question Number : 43 Question Id : 7532292675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30, 120 TUT 160 BT HgTH THYATS T 572
Options :

1. %5

2.9 10




3. % 15
4. % 20

Question Number : 44 Question Id : 7532292676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of :

F

1 3 -2 -2
hEJ+ua +(8)

Options :
23
| % 512

21
5« 1024

25
5 % 1088

13

4.?-‘3E

Question Number : 44 Question Id : 7532292676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g | ; 3 =
hEJ+um +(8)

T HH HT 22



Options :
25
| % 512

21
, o 1024

25

1088

13
4 % 512

Question Number : 45 Question Id : 7532292677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is the largest among the fractions (2/5), (3/4), (4/7) and (2/3)?
Options :

1. % 2/5

2.9 3/4

3. % 4/7

4. % 2/3

Question Number : 45 Question Id : 7532292677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Q2/5), (3/4), (4/7) AT (2/3) FHa & Q gad 91 g S a1 82
Options :

1. * 2/5

2.9 3/4




3. % 4/7
4. % 2/3

Question Number : 46 Question Id : 7532292678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marked price and selling price of an article are Rs. 7600 and Rs. 6688 respectively. What is the discount percentage?
Options :

1. ¥ 12 percent

2. % 16 percent

3. % 8 percent

4. % 10 percent

Question Number : 46 Question Id : 7532292678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T I 1 3ifd Jeu a1 fashd Jed HH: 7600 SUY TUT 6688 T ¢ | Fe Ua=rd T 82
Options :

1. ¢ 12 ufa=rd

2. % 16 UfaRrd

3. % g Ufdwrd

4. % 10 yfa=rd

Question Number : 47 Question Id : 7532292679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 37.5 percent of X =7/8 of Y, then what is X : Y?
Options :

1.9 7:3

2.%5:3

3.% 3:5



4, % 3.7

Question Number : 47 Question Id : 7532292679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR X PT37.5 UCRIA=Y BT7/8 8, WX : Y FTE?
Options :

1.¥7:3
2.%5:3
3. % 3:5
4. % 3:7

Question Number : 48 Question Id : 7532292680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 45 percent of p = 18 percent of 75, then what is the value of p?
Options :

1. ® 10

2. %20

3.9 30

4. % 40

Question Number : 48 Question Id : 7532292680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e p BT 45 UfA=Id = 75 BT 18 UFARA §, A p BT HF 182
Options :

1. * 10

2. %20

3.9 30

4. % 40



Question Number : 49 Question Id : 7532292681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man buys 13 pens for a rupee. How many pens should he sell for a rupee to earn a profit of 30 percent? (cost price of all pens is same. Selling
price of all pens is same.)

Options :
1.4 10
2.% 5
3.% 8
4. % 15

Question Number : 49 Question Id : 7532292681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Afad 1 S0 H 13 HaH Biedl g | 30 UTA=Id &1 ATH HHM & U I 1 398 H a1 Had s @niee? (@ Had &1 50 Yoo IqMH
21 g o o1 faspy geg GAF B 1)

Options :

1. 10

2. %5

3. %8

4. % 15

Question Number : 50 Question Id : 7532292682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ifx : y=2:1, then what is the value of 4x : 2y?
Options :

l.* 3:1

2.% 5:2

3.9 4:3

4. ¥ 41



Question Number : 50 Question Id : 7532292682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Qﬁx:y=2:l%,?h4x:2y$[qﬁwg?
Options :

1. % 3:1
2.%5:2
3.% 4:3
4.9 41

Question Number : 51 Question Id : 7532292683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rohan spends some part of his income and saves the remaining part. The ratio of his expenditure and saving is 4 : 5 respectively. If Rohan’s
income is Rs. 72000, then what will be his expenditure?

Options :

1. % Rs. 16000
2. % Rs. 40000
3. # Rs. 24000
4. ¥ Rs. 32000

Question Number : 51 Question Id : 7532292683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NS U 3 BT H& HIT T Bl § aUT AT HFT T § | ISP T qUT §Id BT SJUTT HH: 4 ¢ 5 § 1 TG Ag B 3 72000 I B,
dl ST T FT GNI?

Options :

1. % 16000 3T

2. % 40000 3T

3. % 24000 3T

4. ¥ 32000 304




Question Number : 52 Question Id : 7532292684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person borrows some money for 5 years at a certain rate of simple interest. If the ratio of principal and total interest is 5 : 2 respectively, then
what is the annual rate of interest?

Options :

1. # 12 percent
2. ® 7 percent
3. % 8 percent
4. % 10 percent

Question Number : 52 Question Id : 7532292684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fad YR &TS1 1 T AT G 5 I8 & ol $8 4RI IUR AdT 7 | A AL TUT $d TSl &1 3UTd HH: 52 2 8, o SIS
@ aIfteh R T 82

Options :

1. % 12 gfa=rd
2. % 7 yfa=rd
3. ¢ g gfa=rd
4. % 10 gfaerd

Question Number : 53 Question Id : 7532292685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car crosses a 480 metres wide road in 32 seconds. What is the speed of car?
Options :

1. ¥ 42 km/hr

2. % 54 km/hr

3. % 48 km/hr

4. % 60 km/hr



Question Number : 53 Question Id : 7532292685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U HR TP 480 HIR NS TSF B 32 AHUS H UR B Acll o | HR HI 71 T 82
Options :

1. % 42 fop 1 /eicT

2. ¢ 54 T di et

3. % 43 fob.di /et

4. % 60 fob 41 /eicT

Question Number : 54 Question Id : 7532292686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The distance between place C and D is 270 km. An express train leaves place C at 6:00 p.m. and runs at a speed of 18 km/hr. The train stops on
the way for 40 minutes. At what time the train reaches at place D?

Options :

1. ¥ 9:40 am
2. % 10:20 am
3. % 8:20 am
4. % 8:50 am

Question Number : 54 Question Id : 7532292686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIF C YT D & T B g3t 270 b 1. B 1 Uoh TaqORy Y@M RIF € ¥ 6:00 3URTE WR Award § aur 18 fos 1t der &1 1fd @ =t 81
YATIET IR F 40 e & 1T bl € 1 YRS RIF D W by G977 ugad! 82

Options :

1. ¥ 9:40 Jdig
2. % 10:20 [dT&
3. % 8:20Ydlg
4. % 8:50 qaig




Question Number : 55 Question Id : 7532292687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are 150 men in a group. They have food for 15 days. After 10 days, 100 more men join the group. Remaining food will last for how many
days?

Options :

1. # 2 days

2. % 5 days

3. % 3 days

4. % 4 days

Question Number : 55 Question Id : 7532292687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T g H 150 T¥U & |1 I U 15 &1 &1 1IeH §1 10 37 T8itq 100 T3 T & fAd 81 9d & | /W 1o b fo I Tamm
Options :

1. % 2feq

2. % 5

3.¢ 318

4. % 4fF

Question Number : 56 Question Id : 7532292688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Perimeter of a rectangle is 20 cm more than the double of its length. If length of the rectangle is 25 cm, then what is the area of this rectangle?
Options :

1. ¢ 250 cm?

2. % 125 cm?

3. % 500 cm?

4. % 325 cm?



Question Number : 56 Question Id : 7532292688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T &1 IRATY IPH! Adls & SNAT 4 20 J.H. 3HfIF § 1 Al 3ad &1 da1s 25 J.. 8, dF 31ad &7 8% d 1 82
Options :

1. 250 9.2
2. % 125 9.H12
3. % 500 9.41.2
4. % 32592

Question Number : 57 Question Id : 7532292689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Length of a rectangle is 15 cm more than its breadth. If its perimeter is 70 cm, then area of this rectangle is 250 cm?.

II. Radius of base and slant height of a cone are 10 cm and 21 cm respectively. Curved surface area of this cone is 660 cm?.
Options :

1. ® Only I

2. % Only II

3. % Both I and I

4. # Neither I nor II

Question Number : 57 Question Id : 7532292689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 9 & 91 oy I8t 82

1. T 31T b1 SIaTS 3! eTs 3 15 A1, 31feeb g1 afe 301 uRed 70 L. B, 1 39 311ad b1 &he 250 4712 B
I1. T 9P & YR H1 o aur fode Sams wawr: 10 9.4 qur 21 S, 31 39 AP &1 I g8 8% d 660 T2 B

Options :




1. % FHadl
2. % Had Il
3. ¢ [ QYT I gl
4. % 1B

Question Number : 58 Question Id : 7532292690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the amount spent by a distributer on publishing of six books. The total amount spent on all these six books is
Rs. 72000. The amount spent on a particular book is shown in terms of degree with respect to the total amount spent on all these six book.

A"
16°

Which of the following statement is correct?
I. Ratio of amount spent on book B2 to the amount spent on book B3 is 11 : 4.
II. The amount spent on book B1 is Rs. 20000 more than the amount spent on book B6.

Options :

1. % Only I

2. % Only II

3. ® BothIandII
4. ¢ Neither I nor II

Question Number : 58 Question Id : 7532292690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e foar mar uTg 9ré U AR GR1 ©: Tad! & UHIRM UR W $i 718 AT B a1 5 | 37 G4t 6 T IR W &1 T3 Hd AR 72000
¥UA ¢ | U ARy qde R W 1 113 AR &1 3 Tt B: Tahl R T B1 T8 Hd AT & T A fetht & wu o gxfar man g

V"
16°

frafied & @ &1 91 &Y= 981 /2
1. %% B2 R W P 718 AF &1 JH B3 W T &1 T A Y S0 11 : 4 8
I1. T B2 R W4 1 T3 RGP B6 TR W I T3 R F 20000 TYY 31 3|

Options :

1. % Had 1
2. % Had Il
3. % [ QYT gHl
4. B IATBII

Question Number : 59 Question Id : 7532292691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line chart given below shows the number of students appearing in examination from two schools in different years.
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What is the average number of student appearing in examination from school A and school B in year Y2?
Options :
1. * 500
2. % 600
3. % 700
4. % 450

Question Number : 59 Question Id : 7532292691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 500
2. % 600
3. % 700
4. 9% 450

Question Number : 60 Question Id : 7532292692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the production and sales of car by different companies.
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Unsold Cars = Production — Sale

Which of the following statement is correct?
I. The difference between the unsold car of C1 and the unsold car of C4 is 60.
II. The sum of the unsold car of C3 and the unsold car of C5 is 60.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Only I

2. Only 1T

3.BothTand II

4. Neither I nor 11

Question Number : 60 Question Id : 7532292692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. bad 1

2. pad 11

3. 1T I GHl
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Question Number : 61 Question Id : 7532292693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The researchers found that the overall risk (1)/ of UTIs was 16 per cent low in(2)/ vegetarians than in non-vegetarians(3)/.No error (4)
Options :

1. % 1

2.9 2

3.%3

4. % 4



Question Number : 61 Question Id : 7532292693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The researchers found that the overall risk (1)/ of UTIs was 16 per cent low in(2)/ vegetarians than in non-vegetarians(3)/.No error (4)
Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 62 Question Id : 7532292694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

We found that 69 percent of employees (1)/reported experiencing some (2)/incivility in the previously year (3)/.No error (4)
Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 62 Question Id : 7532292694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

We found that 69 percent of employees (1)/reported experiencing some (2)/incivility in the previously year (3)/.No error (4)
Options :
1. %1



2. %2
3.¢3
4. % 4

Question Number : 63 Question Id : 7532292695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

She cannot walk nor drive.
Options :

1. % can walk

2. % can may walk

3. % can neither walk

4. % No improvement

Question Number : 63 Question Id : 7532292695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

She cannot walk nor drive.
Options :

1. # can walk

2. # can may walk

3. % can neither walk

4. ¥ No improvement

Question Number : 64 Question Id : 7532292696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

He was robbed on his way home but he realized that most clouds have rainbow lining.
Options :

1. # every cloud has a rainbow lining

2. % every cloud has a silver lining

3. * most cloudy has a silver lining

4. % No improvement

Question Number : 64 Question Id : 7532292696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

He was robbed on his way home but he realized that most clouds have rainbow lining.
Options :

1. # every cloud has a rainbow lining

2. ¥ every cloud has a silver lining

3. * most cloudy has a silver lining

4. ¥ No improvement

Question Number : 65 Question Id : 7532292697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The teacher said that my handwriting was
Options :

1. ¥ appalling

2. % dearth

3. # glowing

4. ® stout



Question Number : 65 Question Id : 7532292697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The teacher said that my handwriting was
Options :

1. ¥ appalling

2. % dearth

3. % glowing

4. * stout

Question Number : 66 Question Id : 7532292698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The car didn’t the old lady crossing the road.
Options :

1. * seeing

2. * seen

3. * saw

4. ¥ see

Question Number : 66 Question Id : 7532292698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The car didn’t the old lady crossing the road.
Options :

1. # seeing



2. * seen
3. # saw
4. ¥ see

Question Number : 67 Question Id : 7532292699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

The origin of the word

P: applied to the speech of disreputable
Q: and criminal classes in London

R: appeared in print around 1800,

S: slang itself is obscure; it first

Options :

1. ¥ SRPQ
2. % SQPR
3. % QSPR
4. % SQRP

Question Number : 67 Question Id : 7532292699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

The origin of the word

P: applied to the speech of disreputable
Q: and criminal classes in London

R: appeared in print around 1800,

S: slang itself is obscure; it first

Options :

1. ¥ SRPQ
2. % SQPR
3. % QSPR



4. % SQRP

Question Number : 68 Question Id : 7532292700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: Paris has for centuries been regarded

Q: world, a magnet for artists and intellectuals

R: and a place where new ideas originate and art reigns supreme
S: as the main cultural powerhouse of the Western

Options :

1. ¥ PQSR
2. % RSPQ
3. % QRSP
4. ¥ PSQR

Question Number : 68 Question Id : 7532292700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: Paris has for centuries been regarded

Q: world, a magnet for artists and intellectuals

R: and a place where new ideas originate and art reigns supreme
S: as the main cultural powerhouse of the Western

Options :

1. ¥ PQSR
2. % RSPQ
3. % QRSP
4. ¥ PSQR

Question Number : 69 Question Id : 7532292701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Retreat

Options :

1. # Brazen

2. ¥ Withdrawl
3. % Unbiased

4. #* Uninterested

Question Number : 69 Question Id : 7532292701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Retreat
Options :

1. # Brazen

2. ¥ Withdrawl
3. % Unbiased

4. % Uninterested

Question Number : 70 Question Id : 7532292702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Benevolence

Options :

1. ¥ Compel
2. % Accrual
3. % Courtesy

4. % Acrimonious



Question Number : 70 Question Id : 7532292702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Benevolence

Options :

1. # Compel
2. % Accrual
3. % Courtesy

4. % Acrimonious

Question Number : 71 Question Id : 7532292703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Accedent

2. % Accdent

3. ¥ Accident

4. % Acident

Question Number : 71 Question Id : 7532292703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Accedent

2. % Accdent

3. % Accident

4. % Acident



Question Number : 72 Question Id : 7532292704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Convenient

2. # Conveneint

3. ® Convinient

4. % Convimeint

Question Number : 72 Question Id : 7532292704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Convenient

2. % Conveneint

3. % Convinient

4. % Convimeint

Question Number : 73 Question Id : 7532292705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Rain on your parade
Options :

1. % Extremely happy

2. % To be dismissed

3. ¥ Spoil someone’s plans

4. % A wasted opportunity



Question Number : 73 Question Id : 7532292705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Rain on your parade
Options :

1. # Extremely happy

2. % To be dismissed

3. % Spoil someone’s plans

4. # A wasted opportunity

Question Number : 74 Question Id : 7532292706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To cry halves

Options :

1. % To demand an unrealistic thing
2. # In deep troubles

3. % To claim an equal share

4. % A heaven on land

Question Number : 74 Question Id : 7532292706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To cry halves
Options :

1. % To demand an unrealistic thing



2. % In deep troubles
3. % To claim an equal share

4. % A heaven on land

Question Number : 75 Question Id : 7532292707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

An expression used by many people
Options :

1. # Profundity

2. % Dogma

3. % Remark

4. ¥ Platitude

Question Number : 75 Question Id : 7532292707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

An expression used by many people
Options :

1. # Profundity

2. % Dogma

3. # Remark

4. ¥ Platitude

Sub-Section Number : 2
Sub-Section Id : 753229177
Question Shuffling Allowed : Yes

Question Id : 7532292708 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No



Question Numbers : (76 to 80)
Read the following information carefully and answer the given questions.

Keratin is a protein that is the key structural building block for hair, skin and nails. Keratin is found in humans and animals alike in forms ranging
from hooves to soft flexible skin. This shows you how strong and delicate keratin can be. When the outer layer of keratin becomes damaged it
affects the new cells that are no longer being protected beneath it. This causes damage in the form of dry, brittle hair or rough and cracked skin.
Reversing this damage can be achieved with a keratin hair treatment. Keratin is used to smooth and fill in the damage of the hair's cuticle layer.
Keratin is unlike a perm or relaxer in that it doesn't actually change the hair's disulfide bonds making it a semi-permanent treatment that lasts
around 3 months, depending on the hair's texture.

A Keratin treatment creates a barrier from heat and humidity so it can be a great treatment for clients that have perfectly healthy hair but are
looking to have their natural curl and frizz smoothed out and protected from the elements. A keratin treatment will not remove the curl
completely but it will cut your clients straightening time in half, if not more.

Much talk has been made about the safety of keratin treatments. Not all treatments are considered equal. Tests found dangerously high levels of
formaldehyde in the Brazilian Keratin Treatment (BKT) brand, about 10 times higher than what is registered as safe. A safer option is Keratin
Shot by Salerm Cosmetics, a favourite among professional stylists.

Keratin treatments are also safe to use on hair that has been previously highlighted or coloured.

Sub questions

Question Number : 76 Question Id : 7532292709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following questions is not answered by the given passage?
Options :

1. # What is a keratin treatment?

2. # How keratin treatment work?

3. % What are the side-effects of going for keratin treatment?

4. % How hair feels after keratin treatment?

Question Number : 77 Question Id : 7532292710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the primary purpose of the given passage?
Options :

1. ¥ To introduce the keratin treatment to the readers
2. % To analyze the benefits of keratin treatment

3. % To persuade the readers to go for keratin treatment



4. % To give a brief idea about hair growth

Question Number : 78 Question Id : 7532292711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct as per the given passage?

Options :

1. # Keratin treatment helps in controlling frizzy hair.

2. ¥ Keratin treatment is safe for the hair, irrespective of high levels of formaldehyde.
3. # Keratin treatment also helps in revitalizing damaged hair.

4. % Keratin treatment is a semi-permanent treatment.

Question Number : 79 Question Id : 7532292712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word ‘delicate’?
Options :

1. # Silky

2. % Light

3. % Frail

4. ¥ Coarse

Question Number : 80 Question Id : 7532292713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For how many months does keratin treatment lasts?
Options :

1. ¥ 3 months

2. % 6 months

3. % 4 months

4. % 2 months



Question Id : 7532292708 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

Keratin is a protein that is the key structural building block for hair, skin and nails. Keratin is found in humans and animals alike in forms ranging
from hooves to soft flexible skin. This shows you how strong and delicate keratin can be. When the outer layer of keratin becomes damaged it
affects the new cells that are no longer being protected beneath it. This causes damage in the form of dry, brittle hair or rough and cracked skin.
Reversing this damage can be achieved with a keratin hair treatment. Keratin is used to smooth and fill in the damage of the hair's cuticle layer.
Keratin is unlike a perm or relaxer in that it doesn't actually change the hair's disulfide bonds making it a semi-permanent treatment that lasts
around 3 months, depending on the hair's texture.

A Keratin treatment creates a barrier from heat and humidity so it can be a great treatment for clients that have perfectly healthy hair but are
looking to have their natural curl and frizz smoothed out and protected from the elements. A keratin treatment will not remove the curl
completely but it will cut your clients straightening time in half, if not more.

Much talk has been made about the safety of keratin treatments. Not all treatments are considered equal. Tests found dangerously high levels of
formaldehyde in the Brazilian Keratin Treatment (BKT) brand, about 10 times higher than what is registered as safe. A safer option is Keratin
Shot by Salerm Cosmetics, a favourite among professional stylists.

Keratin treatments are also safe to use on hair that has been previously highlighted or coloured.

Sub questions

Question Number : 76 Question Id : 7532292709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following questions is not answered by the given passage?
Options :

1. # What is a keratin treatment?

2. # How keratin treatment work?

3. % What are the side-effects of going for keratin treatment?

4. % How hair feels after keratin treatment?

Question Number : 77 Question Id : 7532292710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the primary purpose of the given passage?
Options :

1. ¥ To introduce the keratin treatment to the readers



2. % To analyze the benefits of keratin treatment
3. % To persuade the readers to go for keratin treatment

4. ® To give a brief idea about hair growth

Question Number : 78 Question Id : 7532292711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct as per the given passage?

Options :

1. # Keratin treatment helps in controlling frizzy hair.

2. ¥ Keratin treatment is safe for the hair, irrespective of high levels of formaldehyde.
3. % Keratin treatment also helps in revitalizing damaged hair.

4. ® Keratin treatment is a semi-permanent treatment.

Question Number : 79 Question Id : 7532292712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word ‘delicate’?
Options :

1. # Silky

2. % Light

3. # Frail

4. ¥ Coarse

Question Number : 80 Question Id : 7532292713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For how many months does keratin treatment lasts?
Options :

1. ¥ 3 months

2. % 6 months

3. % 4 months

4. % 2 months
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Question Number : 81 Question Id : 7532292714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& 7T a1 & AT da=mm F1d i
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Options :

1. % o fou

2. % g

3. % Bl

4.« Y

Question Number : 81 Question Id : 7532292714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % & fou

2. % qig

3. % O

4. ¥ Y

Question Number : 82 Question Id : 7532292715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed o § -1 Weg <39 e 72
Options :

1. % 3R

2. ¥ BRI

3. % 91

4. % Hud

Question Number : 82 Question Id : 7532292715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frofeRad o 9§ HH-1 ea S TG 87
Options :

1. % 3R

2. ¢ BRI

3. % 9

4, % HUd

Question Number : 83 Question Id : 7532292716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ U Trec} o1 Y 19 B
drep + S

Options :

1. % qIPHIRI
2. ¢ 9
3. % IR
4. % qrfb

Question Number : 83 Question Id : 7532292716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o TTu wreet 3 i 1 IR
alp + 3

Options :

1. % qrepix
2.« 9l
3. % g
4. % g



Question Number : 84 Question Id : 7532292717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFoffad 7 3 H1H-91 Wsg g Hgl 81 82
Options :

1. % YN.GI8

2. ¢ Jad-gaed

3. % AT

4. % fgH§-fbdre

Question Number : 84 Question Id : 7532292717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafofed & § o1F-91 Ws T T8l 781 82
Options :

1. % Y-GS

2. ¢ Tdd-gaed

3. % JALYMT

4. * fgare-fopde

Question Number : 85 Question Id : 7532292718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % OReRf

2. % 3ffeyaded
3. ¢ SRt



4. % gzl

Question Number : 85 Question Id : 7532292718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ORG

2. % 3ffeUddd
3. ¢ 3ORCR
4. % grceff

Question Number : 86 Question Id : 7532292719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.« TaRuelt
2. % 3Ty
3. % 3¢
4. % 3T

Question Number : 86 Question Id : 7532292719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T Tsg 1 fadiA e F1d BT
At



Options :

1. ¢ fareh
2. % 3fferTg
3. % 3¢
4. % I

Question Number : 87 Question Id : 7532292720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafofed & § o1F-91 We T 981 781 82
Options :

1. % Urg-yog

2. % d-gd

3. % feqa

4.« 3{HI-gcITHT

Question Number : 87 Question Id : 7532292720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafiRed o ¥ $19-97 <sa g Ua! 8! 62
Options :

1. * Ug-gyog

2. % Hd-¢gJd

3. % faq31d

4. % JI-dclHT

Question Number : 88 Question Id : 7532292721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TN 910 BT BT F1d B




Sita=T e & g9 381 4T
Options :

1. ® guf Ydobra

2. ¥ 3F Yddld

3. ¥ 301 Yd&bTd

4. % Gy YdbTa

Question Number : 88 Question Id : 7532292721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TN 910 &1 BT F1d P
St A & g7 38T ol

Options :

1. # guf ydera
2. % 3T YdPbId
3. ¢ 3quf Ydobral
4. % i Ydbral

Question Number : 89 Question Id : 7532292722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRad aredl & § fars are I Sifoa)
Options :

1. % ora Al FRd 81 ge Tl

2. % Trer A fRT 3R ge |

3. % WTan i fIRT g4fe ge |

4. AT o g1 A kT ge

Question Number : 89 Question Id : 7532292722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fraferRerd arerit &  firgf areRy 1 BT
Options :

1. % e ARG 81 ge |

2. % QT - fRT 3R ge |

3. % o7 i iRy gaferg ge |

4. TTE oI g - IRT ge T

Question Number : 90 Question Id : 7532292723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafed areal & 9 WRa areg 91d Sifod |
Options :

1. ¢ H e JIAT g

2. % JH P gRI A WA STl |

3. % IH A hd W1 39ICT 98 3§ I 78] a7l
4. % S g\ I, A IR B Ry |

Question Number : 90 Question Id : 7532292723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad arer ® J TR J1e 1 Doy
Options :

1. ¢ IH T [IAT g |

2. % JH P GRIBd T S5 |

3. % W A Hd QAT 390U 98 379 3 78! el
4. % O g I\ I, A 9B B Ryam|

Question Number : 91 Question Id : 7532292724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faU U RS &1 R J1d B
UG

Options :

. % Hfaud

2. % Hfau

3. ¢ & g &I

4. % HOUW

Question Number : 91 Question Id : 7532292724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T HRS BT RI J1d BT
UG

Options :

1. % pfomd

2. % Hfouy

3. ¢ & [ &I

4. % H MR

Question Number : 92 Question Id : 7532292725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T arR & Iuged favm fag &1 9g4 pifo |
ofe +t <1 3rmar § gu +ft s ema Bl

Options :
1.¥;
2. %
3. % .

4. %

2



Question Number : 92 Question Id : 7532292725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau ¢ a1 & Iuged form fug &1 w4 pifor |
ofe +t <1 3rmar § gu ot s ema 8l

Options :
1.¥,
2.% .
3. %

4, %

2

Question Number : 93 Question Id : 7532292726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau ¢ a1 & Iuged form fug &1 o= pifor |
a1 3 et S st g

Options :
1‘ F ST ]

b

2.%0),
3‘\."/’“”

4.% ()

Question Number : 93 Question Id : 7532292726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau ¢ a1 © Suged form fug &1 o= pifor |
a1 3 et S st B

Options :
1‘ F ST ]

2




2.%0),
3.\."/,“9’

4.% ()

Question Number : 94 Question Id : 7532292727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve ), fou U IR fawedl & ¥, 39 fawen &1 997 & 1 fou U geTak & 31 ol Ya9% U § odad Rl ¢ |
3f7dt &1 T

Options :

1. # fRHRYdS T AT
2. % HAR I1d Hgl

3. % YRUTHRAT

4. ¢ o SR ot

Question Number : 94 Question Id : 7532292727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded o1 oo 3 ot f3T 70 geTer & 31 &1 a9y U § oJad HRal g |
3t @1 Tl

Options :

1. % fOPRYAD T HAT
2. % HAR Id Pl

3. ® YRU[ hAT

4. ¥ gax 3R Toftel

Question Number : 95 Question Id : 7532292728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fou U IR fawedl & ¥, 39 fadmen &1 7997 & 7 fou U geTark & 31 ol Ya9% U § odad Rl ¢ |




U = HRAT

Options :

1. % U9 9gd g
2. Ggd A gl

3. % U9 fagH g
4. % SR TR R IGHT

Question Number : 95 Question Id : 7532292728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded o1 oo 3 ot f3T 70 geTer & 31 &1 a9y ¥U ¥ oJad HRal g |
U9 = HARAT

Options :

1. % U9 urgd g1

2.« Ugad A8

3. % U fagH 8

4. % SR TR IR IGT

Sub-Section Number : 2
Sub-Section Id : 753229179
Question Shuffling Allowed : Yes

Question Id : 7532292729 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TS T T T | IR O STYR WR Ui Uy T 7Y € | I &1 e9Yad U aul Ui Uy H 9R fawedl 8 ¥ Tgl faewed g |

YRA T Abdliad G ¢ | HRd & Sfae & 15 S 2005 BT & 3168 T AT 61 39 i a1 &1 ISR SIRIFEm 2005 TR g1 A
LI & AR AT & 3Ea 6(3) P 3R Bis Y A JIT ISR SHTIHT TG A F T 161 R Febdl g U Aidbad o
UReXf I FaRA Ht I8 FRHEE! 8t 3, b 3710 Tt AR Y =M e ot wreguf ffafie &t a urd e &1 miferd
TYFHR 1 3T HABR BT A 3530 TAH RS AN Bl 3! 3iasd I ST & U FHRAT o1 -1 W] & 39 Tae &




Tfére o RTI 314fd TEe ¢ STHMRH off BT SITa1 g1 Wie Ugan THT &1 T o= a1 & SiiieR &I ar] fedn| Wied | g8 SiitieR
Ue HAUTHS TraU! &b gRT 1766 H ARSI 1 JiUT 1T Fa1 BT SHUBR S ARLEH & a1 HRd 9% $1 55 91 TG 8 [T 3,
TG SRIATRI B BT & A1 I fooedt ot fqumT, e srar ufaisr 9 fasddt 1t TR &1 Yo Uit $= &1 ISR U 81 T/ 5 |
1992 7 fay 8% 7 TR 3R ATy A0 gxdrasT STRT foha o7 | S8 TR & A1 Ug Sl 31 dedl &l S fohdr 11 4T | fomd 9 T
RS RIAT 3R e +ft T et TR & Tt fauTTl & o 629 STHERI D1 H< e A J-1 SHfUGR ST T 8 | T8 Al
TR 8 Mgt & fausid g |

Sub questions

Question Number : 96 Question Id : 7532292730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & TR, YR & g H HIH-91 a7 g AT ST 82
Options :

1. ¢ 15912005

2. % 15911992

3. % 14 A1 1766
4. % 14 JaTS 1992

Question Number : 97 Question Id : 7532292731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fohe =1 4 To Ugd 9 HUBR &I AR fovan a1 U
Options :

1. % HRd

2. % Y

3. % U4

4. ¥ Wred

Question Number : 98 Question Id : 7532292732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3%y 9 3 fFg 19 T X Wkt faear um



Options :

1. % fqeTg 3R yel

2.« R 3R faer
3. % YT 3R U=
4. % RS 3R AR

Question Number : 99 Question Id : 7532292733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

b WHR A G TaYT & e fba SRl Dl B g dids LT HIABRT ST T2
Options :

1. % 692

2. %199

3.% 24

4. ¥ 629

Question Number : 100 Question Id : 7532292734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUad TRITRT HT Jugad e 1 g
Options :

1. ¢ I BT HYBR

2. % SR ANRD

3. % Wb YR | MOl

4. % g DR

Question Id : 7532292729 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

T T T T | IR O STYR WR Ui WY T 7Y € | eI &1 e9gdd U aul Udidh Uy H 9R fawmedl § ¥ Tel faswed g |
YRd U Al dl-ad G ¢ | HRA b 35 & 15 S 2005 B G 368 T SI1dT 51 39 fad a1 &1 3SR g 2005 Tikd gai Ul




AT & HABR HTATH & 3w5E 6(3) P SR Bis U AND JIT SHABRT HTUDBT TG - ° 1 a1 DR Fabdl g| T Ao d
UREXf /I SFaRA B I8 AR 8t 3, fob 3710 Tt AR b1 =M e ot ot ffafie &t E ur e &1 miferd
TYBHR 1 3T HABR BT A 3539 TAH TR ANTRED Bl 3! 3rasd I ST & ST HRAT g1 -1 W] & 39 Tae o
Sfered § RTI 31T TS ¢ SABIHRM Hf BT ST 61 WS- Ugel THT =1 AT foT Ga1 & IR &1 an foran | wie § 98 SHfUdR
T HAUTD YTaei & gRT 1766 H AR B 4T 17| G BT HUBR P A5 P 816 HRd 9% P71 55 I T <RI TG,
TET CRIATRIA! D1 ST & ATeqd J Tt oft fqumT, s sruar aRaier 9 farsht Hf TR &1 a1 urd - &1 SifeR T 81 T g |
1992 H fay o 7 IR 3R fadwr A gxardel SR} fham o7 | S9H U= & 91 Ugqsi a1 ddl ol e fobar 71 o7 | f5=d 9t
URERIAT 3R a1 off 71 375 TRBR & Tt fFUTT & AT 629 STHIRT B F<i1a TS A JaT ISR 11 71 § | T8 A

TR & Mgl & fausid g |

Sub questions

Question Number : 96 Question Id : 7532292730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & SR, YR & 3fdeTd H SIH-91 fa 31 /1 51T 382
Options :

1. ¥ 15912005

2. % 15911992

3. % 14 TS 1766
4. % 14 QTS 1992

Question Number : 97 Question Id : 7532292731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o <=1 & 999 UG 9 HTUGR DI a1 fovdm a7 412
Options :

1. # HRd

2. % Y

3. % U+

4.« e

Question Number : 98 Question Id : 7532292732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
3y 9 A frg 19 T gxaras 9RY fasar um
Options :

1. % fgepTg 3R ye

2.« TR 3R faery

3. % JauTfe SR T=mE

4. % 9IRS 3R HIPHR

Question Number : 99 Question Id : 7532292733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

b WHR A GHI TaYTT & e fba STHeRl Dl B g did LT HIABRT ST T2
Options :

1. % 692

2. %199

3.% 24

4. % 629

Question Number : 100 Question Id : 7532292734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUYR TR T Jugar XM 1 g
Options :

1. ¢ I BT HYBR

2. ® SRS ANIRS

3. % oflep U= H MY

4. % g WBR

Disciplinel

Group Number : 6



Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :
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Number of Questions :
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Section Marks :
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Sub-Section Id :
Question Shuffling Allowed :

Question Number : 101 Question Id : 7532292735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
John Kay invented flying shuttle in

Options :
1. % 1724
2.9 1733
3. % 1755
4. % 1740

to speed up the process of weaving.

753229149
0

0

No

No

0

20

No
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753229149
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20

Yes

1
753229180
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Question Number : 101 Question Id : 7532292735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S & A TS B UlohdT B ool B o [o1g T TS Wed &1 SAShR |
Options :

1. % 1724

2.9 1733

3. ¥ 1755

4. % 1740

Question Number : 102 Question Id : 7532292736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was set up in 1938 under the leadership of Jawaharlal Nehru.
Options :
1. ¥ National Planning Committee
2. # National Committee for Trade
3. # Trade and Commerce Society

4. % National Society of Planning

Question Number : 102 Question Id : 7532292736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI RITYAT 1938 H STATGRAT 8= & -1gcd | Bl 115 T
Options :

1. ¢ 81 grer g

2. % HUR & forg APy FiAfd
3. % UR 3R 10T AT
4. % AT TS 3T @




Question Number : 103 Question Id : 7532292737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct about the Abolition of the Zamindari System in India?

I. Zamindari Abolition bills were introduced in 1949.
II. This faced apprehension from Jawaharlal Nehru and G.B Pant.
III. It aimed to restabilise the Zamindari system.

Options :

1. ® Only I
2. % Il and III
3.% Jand II
4. % Jand III

Question Number : 103 Question Id : 7532292737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR o, STHieRY 04T % I3eH & IeH # Fufafad & § & 91 Hu= 98t 82

I. 1949 H SHiGRT SHa fod U=y oy 7T 9|
1. 3T SIATeRATd 3= 3R off &t Ud P} RihT BT JTHAT BT UST|

111, SHHT I5]T STHIGR] AT B! TR F RITUT BT AT
Options :

1. % Had |

2. % JIdUTIII

3.9 1 dUT 1T

4. % 1dYTIII

Question Number : 104 Question Id : 7532292738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
of Toulouse replaced Calonne in 1788.
Options :



1. # Bishop

2. # Pope

3. # Chamberlain
4. ¥ Archbishop

Question Number : 104 Question Id : 7532292738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B Tau A 1788 H haH & R fem|
Options :

1. % fo=rg

2. % O

3. % JHEeA

4. JTHISRT

Question Number : 105 Question Id : 7532292739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Storming of the occurred on July 14, 1789.
Options :

1. ¥ Bastille

2. # Tennis Court

3. * Palace of Versailles

4. % Fort Garrison

Question Number : 105 Question Id : 7532292739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ WREHAT 14 TS, 1789 B G UT|
Options :

1. ¢ dfed




2. % BT
3. % oy 3ifp offerg
4. % B IRGT

Question Number : 106 Question Id : 7532292740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The list of grievances drawn during the French revolution was known as
Options :

1. ¥ Cahiers de doleances

2. # Lettres de cachet

3. # Cahiers de cachet

4. % Lettres de doleances

Question Number : 106 Question Id : 7532292740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR hifd & SR fafy 78 Rieradl &t gl & & U B ST ST T
Options :

1. ¥ $igad S Sy

2. % WIS Pac

3. % Pigud S Hae

4. % QcY St Sy

Question Number : 107 Question Id : 7532292741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who approved the motion that declared the third estate to be the National assembly in France?
Options :

1. ¥ Cavour

2. # Robespierre



3. ¥ Sieyes

4. % Calonne

Question Number : 107 Question Id : 7532292741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 H IR TIEC DI A el Iftd B dTet UdTd D fobee ol <t 2
Options :

1. % $HaAR

2. % ISR

3. ¢ R

4. % Do

Question Number : 108 Question Id : 7532292742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is NOT correct regarding the French Revolution?

I. French Revolution took place during the reign of Louis XV.
II. It was a series of events.
II1. Financial Crisis was one of the reasons for the revolution.

Options :

1. % Only I
2. % Jand II
3. % Iland III
4. % Jand III

Question Number : 108 Question Id : 7532292742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T ifa & e & Fafafed & 9 oF 91 $u= 98! 78l 2
1. i ifd T8 XV & DA & SR g8 A




I1. I8 G-Il &1 T Rgar i

111. foxita Hehe Hifd & HRUN A J T Tl
Options :

1. ¢ $Had |

2. % 1qYTII

3. % [T

4. % 1AYTI

Question Number : 109 Question Id : 7532292743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The power to govern India was passed from the East India Company to the British Crown through an Act of
Options :

1. #* 1862

2. % 1859

3. % 1860

4. ¥ 1858

Question Number : 109 Question Id : 7532292743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA TR YT B 1 Al 5% ST Ut I foife=r sbra &1 &b Ueb AT & HieH J Ui &1 718 |
Options :

1. # 1862

2. % 1859

3. # 1860

4.+ 1858

Question Number : 110 Question Id : 7532292744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was Satara annexed under the Doctrine of Lapse?



Options :
1. % 1838
2.9 1848
3. % 1858
4. % 1855

Question Number : 110 Question Id : 7532292744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faerg Hifd & Tgd IR BT MfUTgU e fobam 7 Ui
Options :

1. # 1838

2. 1848

3. % 1858

4, % 1855

Question Number : 111 Question Id : 7532292745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who organised Bardoli Satyagraha?
Options :

1. # Lala Lajpat Rai

2. ¥ Sardar Vallabhbhai Patel

3. % Gopal Krishna Gokhale

4. ¥ Chandrasekhar Azad

Question Number : 111 Question Id : 7532292745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR AT B o fora fosar ot 2

Options :



1. # Tl drelgd ™

2. ¢ TIER Te@H HTs U
3. % MU T Rgd

4, % TYGRITR 3G

Question Number : 112 Question Id : 7532292746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was the slogan of Anti-Simon Agitation.
Options :
1. % Simon, Go Back
2. # Simon, Stay Here
3. # Bring Irwin Back
4. % We want Home Rule

Question Number : 112 Question Id : 7532292746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e TR Sigad T ART T
Options :

1. ¢ AHA, T 9F

2. % HIZHA, FGI @

3. % RAG DI IUY areil

4. % BUGH ¥ I18d &

Question Number : 113 Question Id : 7532292747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who opened fire in Jallianwala Bagh on 13 April, 1919?
Options :

1. #® John Saunders



2. ¥ General Dyer
3. #* John Carnac
4. % Alexander Muddiman

Question Number : 113 Question Id : 7532292747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

13 30, 1919 P Sifcrataren IR H fhem Mieat s 2
Options :

1. % S Iy

2. % S SR

3. % S BHIB

4. % JAdoieR GEIHH

Question Number : 114 Question Id : 7532292748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did the Chauri Chaura incident happen?
Options :

1. % 4 February, 1922

2. % 5 February, 1922

3. % 6 February, 1922

4. % 7 February, 1922

Question Number : 114 Question Id : 7532292748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARI-TIRT 1S HF 3T U

Options :

1. % 4 TRaRT, 1922

2. ¢ 5THRANT, 1922



3. % 6 THIANT, 1922
4. % 7Y, 1922

Question Number : 115 Question Id : 7532292749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In 1923, Swaraj party was set up by .

I. C.R. Das
II. Motilal Nehru

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 115 Question Id : 7532292749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1923 H, TS UTST & RITTAT GRI DI TS ot

13 3R, g
1. AldATd "g&

Options :

1. % Hadl

2. % HAd Il

3. ¢ 1 UGl
4. % qEIIATE I

Question Number : 116 Question Id : 7532292750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The First Five Year Plan of the USSR was implemented in Which year?



Options :
1. % 1920
2. % 1924
3.9 1928
4. % 1932

Question Number : 116 Question Id : 7532292750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g UY.UY.31R. ! YYH Uasid Ao s a8 ar] &1 T8 ot
Options :

1. % 1920

2. % 1924

3.9 1928

4, % 1932

Question Number : 117 Question Id : 7532292751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The treaty of Brest-Litovsk was signed between
Options :

1. # USA and Turkey

2. # France and Germany

3. % Russia and Germany

4. # Austria and Ottoman Empire

Question Number : 117 Question Id : 7532292751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
sie-ferciotn o1 4fY ECIERSS IR CARIERTT

Options :



1. ® QUYL 3R gl

2. % B 3R S

3. ¢ &g 3R SHHT

4. % T 3R I AT

Question Number : 118 Question Id : 7532292752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which revolution the October Manifesto had been issued?
Options :

1. # Liberal Revolution of 1895

2. % 1905 Russian Revolution

3. % 1926 coup d'état

4. % 1851 Chilean Revolution

Question Number : 118 Question Id : 7532292752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3geR B! fob g wifa & SIRY favan mrar Ute
Options :

1. % 1895 Bl I&R hifd

2.+ 1905 =8 shifd

3. % 1926 dMUdC

4. % 1851 forefl opifd

Question Number : 119 Question Id : 7532292753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What was the slogan of the 1917 revolution of Russia?
Options :

1. #® Freedom, Peace, Equality and Democracy



2. # Democracy, Peace, Land and Dignity
3. % Equality, Freedom, Bread and Home
4. ¥ Peace, Land, Bread and Democracy

Question Number : 119 Question Id : 7532292753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1917 B = 1 hifd BT TRT T Y12
Options :

1. % Igc=dT, ifd, GHFCT 3R ddhd
2. % e , T, yfty IR TR

3. % T, WaAdl, AT 3R W

4.« ifd, i, AT 3R Ada

Question Number : 120 Question Id : 7532292754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which cause converted the Russian semi-Feudal system into a socialist system?

I. Limited industrialization in Russia
II. Well-organized technology used in agriculture.

Options :

1. ¥ Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 120 Question Id : 7532292754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ $Had |

2. % Had I

3. % [ QYT
4. % qEIIATR I
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7532292755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
were against private property as a source of profit.

I. Socialist
II. Mercantilist

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 121 Question Id : 7532292755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATH & Fid &b =Y H ol Jufi & Raarw U

1. GHTSTaTd!
1. afvreparel

Options :

1. ¢ $Had |

2. % Had I

3. % [ QYT
4. % qEIIATR I

Question Number : 122 Question Id : 7532292756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a socialist philosopher?
Options :



1. #* Charles Fourier
2. % David Ricardo
3. # Robert Owen

4. % Saint Simon

Question Number : 122 Question Id : 7532292756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e # & o T g e T8 82
Options :

1. # I BRAR

2. ¢ Sfas Rersf

3. % TS 3

4. % Hc A

Question Number : 123 Question Id : 7532292757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Charles Fourier and Saint Simon were the real pioneers of
Options :

1. ¥ socialism

2. # feudalism

3. % capitalism

4, % fascism

Question Number : 123 Question Id : 7532292757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T PRI 3R e Arga— & grRdfad ST A |

Options :
1. ¢ HHSdIq



2. % grAddIg
3. % Jofldlg
4. % BRReare

Question Number : 124 Question Id : 7532292758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mein Kampf'is the autobiography of
Options :

1. # Vladimir Lenin

2. % Benito Mussolini

3. % Adolf Hitler

4. # Joseph Stalin

Question Number : 124 Question Id : 7532292758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HHSHs B SAHBUTR |
Options :

1. % SATGHR A

2. % ofie gt

3. ¢ TSI fgeer

4. % S WIifeH

Question Number : 125 Question Id : 7532292759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the context of the fascist dictatorship in Italy, which of the following statements are correct?

I. Public safety law was implemented for the security of the state before personal liberty.
II. Investments in military production were too high as compared to Germany.
III. Persecution of Jews was not an oppressive feature of fascism.



Options :

1. * Tand III
2. % Only I
3. % Only II
4. % Il and III

Question Number : 125 Question Id : 7532292759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® 19UTII

2. ¥ Had

3. % Pad I

4. % [1GYTIII

Question Number : 126 Question Id : 7532292760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In context of World War 11, in which year did Britain and France declared war on Germany?
Options :

1. # 1937

2. % 1938

3.9 1939

4. % 1940

Question Number : 126 Question Id : 7532292760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

facfa fay g & Fed & foea ok Wi A forg aof & ot R g 1 diwon &t
Options :

1. % 1937

2. % 1938

3.9 1939

4. % 1940

Question Number : 127 Question Id : 7532292761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, United Nations was officially formed?
Options :

1. % 1945

2. % 1946

3. % 1947

4. % 1948

Question Number : 127 Question Id : 7532292761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg oy o, Tger Y MBI IR TR 71f3d fabam 7 Y
Options :

1. ¥ 1945

2. % 1946

3. % 1947

4. % 1948

Question Number : 128 Question Id : 7532292762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
On 26 June, 1945, the Charter of the United Nations was signed. It was signed in



Options :

1. # Denver
2. # New York
3. % Chicago

4. % San Francisco

Question Number : 128 Question Id : 7532292762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

26 T 1945 B TG Y & IR W TR fHT T A TR H gxdeR feumu Y
Options :

1. % 3R

2. ® Al

3. % RRIHHN

4. ¢ T hifp!

Question Number : 129 Question Id : 7532292763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct in cotext of World War 1?

I. The Anglo-French entente was signed in 1904.
II. Anglo-Russian Entente was formed in 1907.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 129 Question Id : 7532292763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had I

2. % HAd Il

3. ¢ 1 UGl
4. % AT I

Question Number : 130 Question Id : 7532292764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a cause for World War I1?

L. Failure of Collective Security System
II. Failure of Disarmament

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 130 Question Id : 7532292764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 8 Hadl
2. % BHad Il



3. 1dUT 11 Sl
4. % qTEIIATRIII

Question Number : 131 Question Id : 7532292765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following zones of the earth is called the zone of low velocity?
Options :

1. # Upper crust

2. % Inner core

3. % Upper mantle

4. % Lower crust

Question Number : 131 Question Id : 7532292765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # W yuuel

2. % 3fqEIBIS

3. ¢ JU Hed

4. % g yaddt

Question Number : 132 Question Id : 7532292766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Its surface is dry, hot and volcanic. Its rotation period is about 243 days. The given statements are referring to which planet?
Options :

1. # Mars

2. % Venus

3. % Jupiter



4. % Mercury

Question Number : 132 Question Id : 7532292766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % W1d

2. ¥ Qb

3. % gguid

4. % gY

Question Number : 133 Question Id : 7532292767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Plate tectonic theory is based on which of the following major scientific concepts?

I. Concept of continental drift
II. Concept of sea-floor spreading

Options :

1. ® Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 133 Question Id : 7532292767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 134 Question Id : 7532292768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding parallels of latitude?

I. All parallels of latitude run East-West.
II. Parallels of latitude are small circles on the earth’s surface.
III. They are measured from 0 degree to 180 degree.

Options :

1. % Tand III

2. % Only II
3.% Tand 11

4. % I, 1I and III

Question Number : 134 Question Id : 7532292768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1dYUTII
2. % had I
3.9 14T 1T

4, % I, I dYT I



Question Number : 135 Question Id : 7532292769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The transfer of heat energy through the movement of a mass of substance from one place to another place is called
Options :

1. ¥ Convection

2. % Condensation

3. # Radiation

4. % Conduction

Question Number : 135 Question Id : 7532292769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Hagd

2. % YA

3. % fafeur

4. % -

Question Number : 136 Question Id : 7532292770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a type of ecological pyramid?

I. Number pyramid
II. Biomass pyramid

Options :

1. % Only I

2. % Only II

3. % Both I and I



4. % Neither [ nor 11

Question Number : 136 Question Id : 7532292770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed & ¥ oF 91 uRfRufas fiRifirs &1 te UeR 82

1. e foRifirs
1. ST foRTfirs
Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl
4. % qEIIATRIII

Question Number : 137 Question Id : 7532292771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The tropical cyclone ‘Baguio’ is associated with which country?
Options :

1. % China

2. % Japan

3. % Philippines

4. # Argentina

Question Number : 137 Question Id : 7532292771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUGicaHTg Tshard Argsar ford <=1 § Faiferd g2
Options :

1. % 9

2. % NI



3. ¢ fohcitdig
4. % 3fS(cHT

Question Number : 138 Question Id : 7532292772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following phenomena is NOT involved in the hydrological cycle?
Options :

1. # Condensation

2. # Precipitation

3. # Transpiration

4. ¥ Decomposition

Question Number : 138 Question Id : 7532292772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % o=

2. % Ul

3. % IS

4, ¥ g

Question Number : 139 Question Id : 7532292773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following factors does NOT control the density of seawater?
Options :

1. # Salinity

2. % Temperature

3. # Pressure



4. ¥ Area

Question Number : 139 Question Id : 7532292773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % oIdUuIdl

2. % dIYHA

3. % qdld

4.9 &

Question Number : 140 Question Id : 7532292774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wind rose is a diagram used for representing climatic data. Maximum how many lines can be drawn from the centre in this diagram?
Options :

1. % Ten

2. % Twelve

3. ¥ Sixteen

4. % Twenty

Question Number : 140 Question Id : 7532292774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %

2. % dRg

3. ¢ idg
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Question Number : 141 Question Id : 7532292775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs of ‘Local wind — Region’ is correct?



I. Santa Ana — Japan
II. Chinook — USA
II1. Foehn — Switzerland

Options :

1. % Only I
2. % Il and III
3. % Tand II
4. % Only III

Question Number : 141 Question Id : 7532292775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R gaH - & &1 Fafafad & S &9 91 g et /2

1. i1 TAT — SI1g™
[ LN
[11. Big — RACORAS
Options :

1. % Had 1

2. ¥ 1 AU I

3% 1Yl
4. % Had I

Question Number : 142 Question Id : 7532292776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the map scale?

I. Representative fraction method of representing the scale is completely independent of unit of measurement.
II. Vernier scale and diagonal scale are types of map scales.

Options :
1. % Only I



2. % Only II
3.4 BothIand II
4. % Neither I nor 11

Question Number : 142 Question Id : 7532292776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATRIII

Question Number : 143 Question Id : 7532292777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which soil gets its colour from the presence of ferric oxide?
Options :

1. * Alluvial soil

2. % Black soil

3. ¥ Red soil

4. *= Desert soil

Question Number : 143 Question Id : 7532292777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B Sfgs Bt U T B At JaT 391 11 U Rl g 2

Options :



1. % SIclle Hal
2. % PHIcil gal
3. ¢ W1 Hal
4. % IR AT

Question Number : 144 Question Id : 7532292778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Zemu glacier is located in which state of India?
Options :

1. ¥ Sikkim

2. # Uttarakhand

3. ¥ Himachal Pradesh

4. % Arunachal Pradesh

Question Number : 144 Question Id : 7532292778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
O TARRR YRd & g I § fRyd 82
Options :

1. ¢ T¥fapa

2. % IIIES

3. % fgumad ue™

4. % BT UK

Question Number : 145 Question Id : 7532292779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nagarjuna-Sagar Dam is built across which river?
Options :

1. % Brahmani



2. % Krishna
3. # Mahanadi

4. % Pennar

Question Number : 145 Question Id : 7532292779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ANTSA-AIR &7y fbg T R a1 82
Options :

1. % STgroft

2. ¥ pU

3. % WMl

4. % TR

Question Number : 146 Question Id : 7532292780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Chotanagpur Plateau does not covers which of the following state of India?
Options :

1. # Jharkhand

2. % QOdisha

3. % West Bengal

4. ¥ Madhya Pradesh

Question Number : 146 Question Id : 7532292780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IRES

2. % IS




3. % iy S
4, ¢ A YT

Question Number : 147 Question Id : 7532292781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A road tunnel called ‘Jawahar tunnel’ is situated under which pass?
Options :

1. # Pensi La pass

2. # Shipki-La pass

3. % Chang-La pass

4. ¥ Banihal pass

Question Number : 147 Question Id : 7532292781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATER YT S Th TSb YT fhd &< & -1 fUd g2
Options :

1. % U o oy

2. % fRge]-a1 ™y

3. % NI Uy

4. ¢ §gTd U™

Question Number : 148 Question Id : 7532292782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the Indian tropical moist deciduous forest?

I. The average annual rainfall is more than 250 cm.
II. Teak is one of the dominant species.
III. They are found in the north-eastern parts of the peninsula.

Options :



1. % Only II
2. % Tand III
3. % Il and III
4. % Only I

Question Number : 148 Question Id : 7532292782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % oad II

2. % 1dUTIII

3.« [ dYUT I
4. % pad |

Question Number : 149 Question Id : 7532292783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the 2011 census, which is the least populous state in India?
Options :

1. # Arunachal Pradesh

2. ¥ Sikkim

3. # Jharkhand

4, % Assam

Question Number : 149 Question Id : 7532292783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % UM U&=
2. ¢ Rfden

3. % JRYS

4, % 3{YH

Question Number : 150 Question Id : 7532292784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The unevenness of population distribution can be analysed by different criteria. Some of the bases are

1. Habitability
II. Scale of concentration
II1. Hemisphere

Options :

1. % Iand II

2. % Il and III
3. % Tand III

4. 1,1l and 11I

Question Number : 150 Question Id : 7532292784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. 3fTed
1. THRIdT T THTHT
11 el

Options :

1. % 1dYT 11

2. % I dUTIII
3. % 1dYTIII
4. 1 11 dYT 1T



Question Number : 151 Question Id : 7532292785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state of India is the third largest producer of paper in the country?
Options :

1. % Tamil Nadu

2. % Maharashtra

3. ¥ West Bengal

4. % Gujarat

Question Number : 151 Question Id : 7532292785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % dfierg

2. % TERIY

3. ¢ UigH &

4. % TGRId

Question Number : 152 Question Id : 7532292786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following assumptions are correct regarding the development of least cost theory of industrial location?

I. Raw materials occurs at only a few locations.
II. Labour supply is immobile.
III. Market exists only at specific places.

Options :
1. % Tand II
2. % Il and III



3. % Jland lII
4.+ 1,11 and III

Question Number : 152 Question Id : 7532292786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IddTII

2. % 11 dYTIII
3. % 1dYUTIII
4. 1 11 dYT I

Question Number : 153 Question Id : 7532292787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The second most important staple food in India is
Options :

1. #* Rice

2. ¥ Wheat

3. % Maize

4. % Bajra

Question Number : 153 Question Id : 7532292787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % 9ad
2. ¥ g

3. % Og@l
4, % o

Question Number : 154 Question Id : 7532292788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following institutional factors influence the agriculture of any region?

I. Ownership
II. Land tenancy

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 154 Question Id : 7532292788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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11, i T2erd

Options :

1. % Had |
2. % Had Il
3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 155 Question Id : 7532292789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correctly matched?

I. Golden fibre revolution — Jute
I1. Silver fibre revolution — Cotton
III. Yellow revolution — Oil-seeds

Options :

1. # Iand II

2. % Il and III
3. % Only II

4. % 1,1 and III

Question Number : 155 Question Id : 7532292789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1Y

2. % [ITUTII

3. % Had Il

4. 1,11 QYT 11

Question Number : 156 Question Id : 7532292790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country has the largest rail network in the world?
Options :

1. ¥ Canada



2. * China
3. ¥ The United States
4. * India

Question Number : 156 Question Id : 7532292790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3%y b7 T TST ¥ o1 fohg T H B2
Options :

1. # PAlS]

2. % T

3. ¢ Yo ST ARBT

4, % YRd

Question Number : 157 Question Id : 7532292791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India, the National Green Highway Policy was launched in
Options :

1. % 2015

2. % 2018

3. % 2005

4. % 2010

Question Number : 157 Question Id : 7532292791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR H, IP1g gl IoAn ifd RS R
Options :

1. ¥ 2015

2. %2018



3. % 2005
4. % 2010

Question Number : 158 Question Id : 7532292792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The tsunami's energy flux is dependent on

I. Wave height
I1. Wave speed

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 158 Question Id : 7532292792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 AU Gl
4. % I I

Question Number : 159 Question Id : 7532292793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The construction of a building should take place at least away from the sea coast as a preventive measure against floods.



Options :

1. # 350 metre
2. ¥ 250 metre
3. % 150 metre
4. # 500 metre

Question Number : 159 Question Id : 7532292793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S1¢ 9 §I1d & UM & ¥ H fbdl Had bl AT ag de s A dH &1 gd W g1 =1feyl
Options :

1. % 350 Hlex

2. ¥ 250 HIR

3. % 150 HIex

4. % 500 Hlcx

Question Number : 160 Question Id : 7532292794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the components of disaster reduction and management?

I. Hazard analysis
II. Vulnerability analysis
III. Risk analysis

Options :

1. ® Tand II

2. % Il and III
3. % Iand III
4.9 1,11 and III

Question Number : 160 Question Id : 7532292794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fafeiad & 9 &1 ¥ TGl TRl 3R TeeE & 9 g2

1. SR fawereoT
11. gHeAT fa=eyo
111, SIiRgH o=y

Options :

.= Iddl

2. % I dYTIII
3. % TdYT I
4, 1, I dYTIII
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Question Number : 161 Question Id : 7532292795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DRABC is a primary assessment and action plan for a first aid situation after a disaster. Which of the following is the correct expansion of
‘DRABC’?

Options :

1. ¥ Danger, Response, Airway, Breathing, Circulation
2. % Dressing, Revive, Approach, Behold, Calming

3. ® Dehydrate, Reach, Assist, Bandage, Care

4. ¥ Damage, Restore, Alleviate, Boost, Counsel

Question Number : 161 Question Id : 7532292795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¢ SoR, iy, TaRa, fafd, axjaze
4. % SO, RER, THllde, T, HrTa

Question Number : 162 Question Id : 7532292796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is known as the Father of Green Revolution in India?



Options :

1. ¥ M.S. Swaminathan
2. # Verghese Kurien
3. % Durgesh Patel

4. # Sam Pitroda

Question Number : 162 Question Id : 7532292796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H A Sifd & S & = H b8 ST el 52
Options :

1. ¥ TH.TH. WHARE

2. # FIffS Hiaq

3. % giRIUCd

4. % 9 oA

Question Number : 163 Question Id : 7532292797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Per capita income of a nation is determined by the

I. Size of population
II. Size of the economy

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 163 Question Id : 7532292797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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L. SIS BT HTHR
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Options :

1. % Had I

2. % HAd Il

3. ¢ 1 UGl

4. % AT I

Question Number : 164 Question Id : 7532292798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Ginni Index is the measurement of
Options :

1. # population

2. ¥ distribution of income

3. #¥ economic development

4. % agricultural growth

Question Number : 164 Question Id : 7532292798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
s @®1amgl

Options :

1. % 3faTel

2. ¥ 3 &b fARO

3. % 3 gy

4, % Sy fdHr

Question Number : 165 Question Id : 7532292799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Quantitative restrictions are important means of restricting imports and exports. Which of the following is a type of Import Quota?

I. Unilateral quota
II. Income quota
III. Mixing quota
IV. Tariff quota

Options :

1. ® Tand II

2. % I, I and III
3.9 [ 1lland IV
4. % Only IV

Question Number : 165 Question Id : 7532292799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IdUTII

2. % LI dYT I
3. L IIAUTIV

4. % Had v

Question Number : 166 Question Id : 7532292800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a technique of privatisation?



L. Private sale of shares
II. Sale of government assets

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 166 Question Id : 7532292800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % HAd Il

3. ¢ 1 UGl
4. % qEIIATE I

Question Number : 167 Question Id : 7532292801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following combinations of money supply is characterized as broad money?
Options :

1. ¥ M1 and M2

2. % M3 and M4

3. % M2

4, % M4

Question Number : 167 Question Id : 7532292801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % M1 3fR M2

2. ¢ M3 3R M4

3. % M2

4. % M4

Question Number : 168 Question Id : 7532292802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a type of treasury bill issued by the government of India?
Options :

1. # 265-day treasury bill

2. ¥ 91-day treasury bill

3. ¥ 120-day treasury bill

4. % 300-day treasury bill

Question Number : 168 Question Id : 7532292802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 265-fadg ¢oR fae

2. ¢ 91-fadig ¢oRt for

3. % 120-f&H BT ¢oRl ford

4. % 300-f¢ &1 ¢oR faret

Question Number : 169 Question Id : 7532292803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an instrument of monetary policy in India?
Options :

1. # Bank rate

2. % Liquidity adjustment facility

3. ¥ Reverse repo rate

4. % Call money rate

Question Number : 169 Question Id : 7532292803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1% dP R

2. # AW TS Jfaer

3. % RagUive

4. BId HHI X

Question Number : 170 Question Id : 7532292804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A non-performing asset (NPA) is a loan or an advance where

L. the installment of principal or interest thereon remains overdue for two crop seasons for short duration crops.
II. the bill remains overdue for a period of more than 90 days in the case of bills purchased and discounted.

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 170 Question Id : 7532292804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl
4. % 1B

Question Number : 171 Question Id : 7532292805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concurrent list of Indian constitution consists of items nubered 1 to
Options :

1. ® 66

2. % 97

3. % 55

4. ¥ 47

Question Number : 171 Question Id : 7532292805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 66

2. %97

3. % 55

4.9 47




Question Number : 172 Question Id : 7532292806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct regarding the federal system?
Options :

1. ® The constituent units have their own well-defined power.

2. % The nature of power is permanent.

3. ¥ The main authority of power is the central government.

4. ® The power is inherent in the constituent units.

Question Number : 172 Question Id : 7532292806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Jgem SH3al i Y- JARHIIT Jfad il g

2. % fad &1 Wy REf ST g |

3. ¢ 1 BT A PR Hg WBHR el 7

4. % T3 U gHp1zal § Alga gt 31

Question Number : 173 Question Id : 7532292807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following items are part of the concurrent list of Indian constitution?
Options :

1. ¥ Marriage and divorce

2. % Animal husbandry

3. % Armed forces

4. ® Citizenship

Question Number : 173 Question Id : 7532292807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ faarg 3iR faarg fawve
2. % TRUICH

3. % RRF dd

4. % AR

Question Number : 174 Question Id : 7532292808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related with the term of office of Governor?
Options :

1. ¥ 156

2. % 148

3. % 162

4. % 160

Question Number : 174 Question Id : 7532292808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 156

2. % 148

3. % 162

4. % 160

Question Number : 175 Question Id : 7532292809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which of the following year, did the Janata Party became the ruling party in the centre in India?



Options :
1. # 1968
2.% 1977
3. % 1966
4. % 1991

Question Number : 175 Question Id : 7532292809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1968

2.9 1977

3. % 1966

4, % 1991

Question Number : 176 Question Id : 7532292810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs of ‘Political party — Symbol’ is correct?

I. All India Trinamool Congress — Flower and Grass
II. Communist Party of India — Spectacles

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 176 Question Id : 7532292810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ Hadl

2. % HAd Il

3. % [ QYT ISl

4. % AT I

Question Number : 177 Question Id : 7532292811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was the founder of the Bahujan Samaj Party (BSP).
Options :
1. ¥ Kanshi Ram
2. % Mayawati
3. % Akhilesh Yadav
4. ¥ Mulayam Singh Yadav

Question Number : 177 Question Id : 7532292811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oM gH uTel (§.9.41.) & RITTF Y |
Options :

1. ¢ Bl M

2. % ATl

3. % 3fRgcixT Ied

4. % gargH ¥ig argd

Question Number : 178 Question Id : 7532292812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Mamta Banerjee is associated with which of the following party?
Options :

1. ® Communist Party of India (Marxist)

2. % Bharatiya Janata Party

3. ¥ All India Trinamool Congress

4. ® Bahujan Samaj Party

Question Number : 178 Question Id : 7532292812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YR HRI-RC UTeT (ATRIATaT)

2. % YR Sfar aréf

3. ¢ 3RId YRAH JUIHA ST

4. % qgoi 9IS Uref

Question Number : 179 Question Id : 7532292813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parties is the oldest political party in India?
Options :

1. #® Bharatiya Janata Party

2. ¥ Indian National Congress

3. #¥ Bahujan Samaj Party

4. ® Nationalist Congress Party

Question Number : 179 Question Id : 7532292813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YR S=ar uref

2. ¥ YR IS HiUd

3. % ggor qH uref

4. % Tyarel BioY ref

Question Number : 180 Question Id : 7532292814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ahdd oI TYRN & JeH H FafaRad & § o a1 HyF Tl 981 82

L. FHM AR WR YR JHIS
I1. SgHd & o TR D TMDHR SIS DRI DT TREfUT
111 3R 3R gfaer Tua N gRT M

Options :

1. ¢ Had III
2. % I dYrI
3. % 1dYUTII
4, % LI dYTIII

Question Number : 180 Question Id : 7532292814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements are NOT correct regarding the concept of democracy?

I. Society based on equal opportunity
II. Protection of minority rights by placing checks on majority rule
II1. Rule by the rich and advantaged people

Options :

1. % Only III
2. % Il and III
3. % Tand III



4. % [, 1l and III
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Question Number : 181 Question Id : 7532292815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the types of representative democracy?
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I. Presidential democracy
II. Parliamentary democracy

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 181 Question Id : 7532292815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl

4. % qEIIATR I

Question Number : 182 Question Id : 7532292816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following years, was the ‘Declaration of rights of man’ took place in France?
Options :

1. #1777

2. % 1798

3.9 1789

4. % 1788



Question Number : 182 Question Id : 7532292816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafered 3 food au # hid H TSR 3T ISCH {1 T 1 Yo g8 i
Options :

1. % 1777

2. % 1798

3.9 1789

4, % 1788

Question Number : 183 Question Id : 7532292817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Indian states has unicameral legislature?
Options :

1. # Bihar

2. # Mabharashtra

3. % Uttar Pradesh

4. ¥ QOdisha

Question Number : 183 Question Id : 7532292817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol § 3 forg YRl Isa o T He faumieT g
Options :

1. % f98R

2. % HeRIY

3. % IR UK

4.« ISl

Question Number : 184 Question Id : 7532292818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

King Mahendra launched the Royal Democratic Constitution of Nepal in
Options :

1. # 1950

2. % 1959

3. % 1965

4. % 1960

Question Number : 184 Question Id : 7532292818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

NEIEEEE T AU o T sHIshicd TfAU™ ol JURY fobar o1
Options :

1. % 1950

2. %1959

3. % 1965

4. % 1960

Question Number : 185 Question Id : 7532292819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following reasons contributed to the Bolivia’s water war?

I. The government of Bolivia gave the control of municipal water supply in Cochabamba city to a multi-national company.
II. Many people received monthly water bill of Rs 1000 in a country where average income is around Rs 5000 a month.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 185 Question Id : 7532292819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl
4. % 1B

Question Number : 186 Question Id : 7532292820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following articles of Indian Constitution is NOT included under Right to Freedom?
Options :

1. % Article 20

2. % Article 18

3. % Article 21A

4. % Article 19

Question Number : 186 Question Id : 7532292820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR T3y F FHuffad § S SF O e Waa-3ifIeR & bR & 3iaiid i 76l 82
Options :

1. % 3Jwa 20

2. ¢ TG 18

3. % 33 21A

4. % 3G 19




Question Number : 187 Question Id : 7532292821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which schedule of the Indian Constitution has the provisions related to the states and the union territories?
Options :

1. * Fourth

2. % Third

3. ¢ First

4. % Second

Question Number : 187 Question Id : 7532292821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRGTT Tfdem 1 e Srge # Ieat 3R g 2Rd USRI ¥ Heifid Urae™ 82
Options :

1. % Treft

2. % ARt

3. ¢ Ugalt

4. % gl

Question Number : 188 Question Id : 7532292822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following was a member of constituent assembly of India?

1. Jawaharlal Nehru
II. Sardar Vallabhbhai Patel

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II



Question Number : 188 Question Id : 7532292822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o YR Pt IRy IH B Jegg 92
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Options :

1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 189 Question Id : 7532292823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Preamble of Indian constitution provides liberty of

I. Thought
II. Expression
II1. Belief

Options :

1. ® Tand IT

2. % Il and III
3. % Only I

4, % 1,11 and III

Question Number : 189 Question Id : 7532292823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR AT BT I RIbT EIRSRECINHE GG
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Options :

1. % 194110

2. % [1dYT I
3. % Pad 1
4.4 1, 11 dYT I

Question Number : 190 Question Id : 7532292824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following directive principles of state policy is NOT mentioned in the constitution of India?
Options :

1. # Equal justice and free legal aid

2. # Organisation of agriculture and animal husbandry

3. % Promotion of rural banks

4. ® Separation of judiciary from executive

Question Number : 190 Question Id : 7532292824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & 3 g Isg &t Hifd e da &1 e HRd & Jfay@ & 781 82
Options :

1. % 9 O 3R 3o fafie qgmad

2. % HY 3R URATA BT TS

3. ¢ JTHIU ST P ggrar

4. % HIIUICIRT § TIT D] BT JUTH U]

Teaching Methodology



Group Number : 11

Group Id : 753229154

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 10

Is this Group for Examiner? : No
Teaching Methodology

Section Id : 753229154

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 10

Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229185

Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 7532292825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As a teacher how you can make teaching learning activities more meaningful by situating them in an authentic context?

I. Before starting the lesson “our environment” you can take your class out on a walk near the school and on returning ask each child to list the
living and non-living things they observed.
II. You can invite local artists/artisians to demonstrate their works before students or allow students to visit their workshops.

Options :
1. * Only I



2. % Only IT
3. % Both I and II
4, % Neither I nor I1

Question Number : 191 Question Id : 7532292825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. % Had Il
3. ¢ [ QYT I gl
4. % I I

Question Number : 192 Question Id : 7532292826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Diorama is one of the Learning resource used in the social sciences class. Which of the following cannot be presented through Diorama?

I. Life in Desserts
II. Oasis in Sahara Desert

Options :

1. * Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II



Question Number : 192 Question Id : 7532292826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. % Had Il

3. % [ UGl

4. TRIIATRII

Question Number : 193 Question Id : 7532292827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the characteristic of Assessment for Learning?

I. It is descriptive in nature and is not judgemental but is evaluative.
II. It expects students to make errors and directs them to examine these errors in order to improve their learning.
III. It involves students in structured self and peer examination of their work.

Options :

1. ¥ Il and III
2. % Only I

3. % Only I

4. % 1, Il and III

Question Number : 193 Question Id : 7532292827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.« 1 TUT I
2. % had Il
3. % $had |

4. % L IIAYTII

Question Number : 194 Question Id : 7532292828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are the categories of imitative behaviour.

I. The modelling effect
II. The eliciting effect

Options :

1. * Only I

2.9 Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 194 Question Id : 7532292828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® Had 1
2. ¥ Had Il



3. % 1dUT I Sl
4. % qTEIIATRIII

Question Number : 195 Question Id : 7532292829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are the classical dances.

I. Kathak

II. Bharatnatyam
II. Odissi

I'V. Manipuri

Options :

1. ¥ 1L, Il and IV
2. % Iland IV

3. % I, Il and IV

4. % Tand III

Question Number : 195 Question Id : 7532292829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. LII, I ddT TV
2. % IdUT1IvV

3. % LINAUTIV

4. % TdYTIII



Question Number : 196 Question Id : 7532292830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination is correct about the Piaget’s stages of cognitive development?

I. Children begin to engage in logical thinking — Formal operations stage
II. Children can think abstractly — Concrete operations stage

Options :

1. * OnlyI

2. % Only II

3. %* BothIand II
4. ¥ Neither I nor II

Question Number : 196 Question Id : 7532292830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had |

2. % Had II

3. % [ QYT

4. A ITE I

Question Number : 197 Question Id : 7532292831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination of appropriate aids and appliances — student’s disability is NOT correct?

I. Braille — Hearing Impairment
II. Mobility aids (walker etc.) — Motor and Physical Disabilities

Options :



1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 197 Question Id : 7532292831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ $had |

2. % Had I

3. % [ qUTI M

4. % qGIIATRIII

Question Number : 198 Question Id : 7532292832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the status indicators of Gender?

I. Sex ratio
II. Health
III. Participation in workforce

Options :

1. # Il and III
2. % Only I

3. % Tand II

4. % 1,1 and III



Question Number : 198 Question Id : 7532292832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. = I dUTIII
2. % had
3% 14T
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Question Number : 199 Question Id : 7532292833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As a teacher while using literature, attention must be paid to which of the following points?

I. Not complete but partial understanding of study material is required
II. Opportunities should not be provided for creativity

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 199 Question Id : 7532292833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.« Had 1

2. % HAdII

3. % [ UGl

4. % qEIIATR I

Question Number : 200 Question Id : 7532292834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following groups are at risk to remain out of school?

I. Girl child
II. Children who are gifted and creative

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 200 Question Id : 7532292834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 AU Gl




4. % ATEIIATSII



